= AH O
N = 0 &8 AF S & Al A
20128 20ld =UHESHELESH &AM
A XNEH MM
Mz NEHH A
S = - AN (FUNESISEESA) (&2 &2
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
XA M 149,006 162,088 A 13,082
NS N 149,006 162,088 A 13,082
F - HXNENEE(FNE2EEESA) 149,006 162,088 A 13,082
LA XHEE Aol 600 2,400 A 1,800
201 LEtRAHH| 600 2,400 21,800
01 At 22| 600 2,400 21,800
o L AMEXIXE Ao 50,000 = 1CH = 12& 600
ES S = 17,960 41,001 A23,041
201 Lt H| 12,920 15,800 A2,880
01 AtR2t2| | 12,920 14,600 A 1,680
< dBt~ZH| > 0
o FHICHHEX T KIZ 100,000 * 80K 8,000
o NEHFHAH EEEMH 500,000 * 23| 1,000
< 2> 0
o EYFEX ¢ L NEEES
7,000 » 43 = 140 3,920
202 044l 5,040 2,960 2,080
01 2ol 5,040 2,960 2,080
o EYFEX ¢ 2 WHE A
20,000 * 4% * 63 5,040
AsSx2a Lels S0a 4 36,410 35,450 960
201 L Bt2HH| 36,410 35,450 960
01 AF22t2ltl 21,450 21,450 0
< ABtZH| > 0
o XSk SES (YL, SEE )
70,000 * 1008+ A 7,000
o N=EA ¥ HAUSSHMDENS DA
70,000 * 30BtA * 35 6,300
o XNSX A2 &I Hs o
3,000 * 1,500 4,500
o TgiH EY 2,450
- MOGHNEHZ DA S22 28D
150,000 * 1CH = 3JH 450
- 28R FAUE 173,000 = 2CH = 404 1,384
- EEgY? A= 154,000 *= 104 * 44 616
o NREE 2g 10,000 * 20& * 63| 1,200
02 83329 14,960 14,000 960
< BBL2LAA > 0
o XS A CHHSE A 100 * 20,0000K 2,000
o NEX 2H QRS
270 = 4,00000 * 12& 12,960
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L HPEEN
HE: DEHT HM
Sl = NIMENHY(FHHSYSEEN)

S HE - S(EH) - NRAY - BES Of) &t o4 S
0f 4 o
1 )=]=] 94,036 3,237
801 oilHlH 94,036 3,237
01 OilglHl 94,036 3,237
< 0lgldl 94,036,000 94,036
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